:

SOLUTIONS

1 2 races, in the second race the hares have to reach the finish line exactly in the reverse
order ( ABCDEFGHI-IHGFEDCBA)

2.9 Easter eggs

3. The fourth hole.

4. 21 Easter eggs

B. Racing bunny Rude Rasehase has no chance to do that, because he already needed 9
minutes for the first lap - the maximum total time for all three laps.




SOLUTIONS

1. rooster

2. anettle

3. egg-scuse-me

4. butterfly

5. january 2nd

6. an Easter egg

7.snail

8.a bumblebee

9.rain

10. Not at all, the rooster does not lay eggs.

11. Easter

12. Jesus Christ

13. tea eggs, surprise eggs, frogspawn, turtle eggs, fish eggs, crocodile eggs

14. the umbrella

15. Cuckoo

16. a flower

17. rabbit

18. chick

19. a paintbrush

20. The ladybird

ABENTEUER

Freuwndschofl,”




